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BEDMAS 1A Questions "

/78. Percent: Y Name

Score:

Instructions: Simplify (find the answers) Date
and SHOW all steps. All Questions are worth 3 tharks each.

1) 5-(3+2)= T) 18+ (6+3)=

= ) : = 5

2) 5-3+2=

= Il

= T

10) 7+ (3)(5) =

= T

1) g x129=

-

12) 36 - (4)(58) =




13) 25+ 8+ 4=

ELE
14) 49 -18+2x3=

=l £/

15) 6x8+12+ 4=

= &1

1116) 40 - 5+6x2=

=St
17) 3(7-2)+10=

gl 1

18)12-3(7-4) =

19) 12+'18+6.-(3)(2)=

| F
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20) (7)(3) - (2)(5) =

= 1\

21) 10-(3x4-2)=

=1

" 22)12-(20:4-2)+3 =

= 1. -

..23) 4(3+2)-3(7-4)+5(12-8)= .

:‘"“
24) 6(8 - 3)+(1+9) =

=3

. 25) 36 +3+(20+5)=




